
  
Example Item 2C.2b (Grade 7):  
Primary Target 2C (Content Domain EE), Secondary Target 1C (CCSS 7.EE.B), Tertiary Target 2D 

 
 

A mail-order company sells jars of spices.  
An empty jar has a mass of 200 grams. 

A full jar contains 110 grams of a spice. 

The company sells n jars filled with spices. 
 

Select the best interpretation of the expression (200 +110)n. 
      

A. The cost to ship 1 full jar  
B. The cost to ship n full jars 

C. The mass of 1 full jar  
D. The mass of n full jars 

 

 

 

Rubric: (1 point) The student selects the correct interpretation (e.g., D). 
 

Response Type: Multiple Choice, single correct response 
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